

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2025

Progress Estimate Number 7	Contract ID Prime Contracto	240119- or Gene H	-H06 aile Excavating, Inc.	Pay Period Start Pay Period End	September 2 September		Original Contract Amount Net Change Order Amount Current Contract Amount	\$913,134.20 \$187,729.00 \$1,100,863.20
Approval Date								By User
September 16, 2025			Generated and	Approved (and shou	ld be consider	ed Draft)	at the Project Office Level by	rothel
September 16, 2025			Reviewed and Appro	oved (and should be	considered Dr	aft) at the	e Resident Engineer Level by	hillsd1
September 18, 2025				Reviewed and Appr	oved at the Ce	ntral Offic	ce Controllers Office Level by	ramses1
Original Completi	on Date	Current Co	ompletion Date	Actual Compl	etion Date		% of Current Contract Amount	Complete
September 1, 2	2025	Octob	per 1, 2025				81.48%	
	Contr	act Informa	tional Dates				Milestones	
Date Description	Original Comp	letion Date	Current Completio	n Date	No Mile:	stones Ex	kist for Contract	
Acceptance Date								
Awarded Date	February 14, 20	24	February 14, 2024					
Letting Date	January 19, 202	24	January 19, 2024					
Notice to Proceed Date	March 1, 2024		March 1, 2024					
Work Began Date								

Contract Total Pa	ay For Estimate No. 7			
		This Estimate	Previous	To Date
240119-H06				
	Total Posted Items Pay	\$103,892.00	\$793,127.20	\$897,019.20
	Gross Item Adjustments	\$180,400.00	(\$216,342.20)	(\$35,942.20)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$576,785.00	\$861,077.00
Contract Total Pa	avable This Estimate:	\$284 292 00		

Items Paid Thi	s Estimate	Period					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3611	0190	6181000	MOBILIZATION	LS	\$76,500.000	0.250	\$19,125.00
	0240	7250318A	18 IN. PIPE GROUP B	LF	\$60.000	10	\$600.00
	0260	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	EA	\$500.000	1	\$500.00
	0400	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	CUYD	\$550.000	123	\$67,650.00
	0410	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	LB	\$1.500	10,678	\$16,017.00
Project 19536	C11 Total						\$103 802 00

## Project J9S3611 - Total \$103,892.00 Overall - Total \$103,892.00

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	<u>Adjust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3611	0040	EMBANKMENT IN PLACE	Material			-1,231	\$25.00	(\$30,775.00)
	0040	EMBANKMENT IN PLACE	MaterialCredit			1,231	\$25.00	\$30,775.00
	0050	COMPACTING EMBANKMENT	Material			-617	\$4.00	(\$2,468.00)
	0050	COMPACTING EMBANKMENT	MaterialCredit			617	\$4.00	\$2,468.00
	0400	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	MaterialCredit			328	\$550.00	\$180,400.00
Total								\$180,400,00

Revision 9/2/2025 Page 1 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					С	ontract Project Informa	ition
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9S3611	FAS S704(1)	Culvert- Bridge replacement	M	WRIGHT	over Harris Creek		
Totals b	y Job N	umbers					
J9S3611		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$103,892.00 \$180,400.00 <b>\$284,292.00</b>	Previous \$793,127.20 (\$216,342.20) \$576,785.00	To Date \$897,019.20 (\$35,942.20) \$861,077.00
	Liquid	tive centive dated Damage Contract Adj			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 5/29/2025 Page 2 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3611, Item 2035500, Project Item Line Number 0040, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	ROTHEL	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J9S3611, Item 2036000, Project Item Line Number 0050, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	ROTHEL	Acknowledged

Revision 5/29/2025 Page 3 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

March   Marc	ract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1000   1000   2001000   CLRSS A EXCAVATION   5,450 0 000   5,479 00   CVTD   77700   \$1000   \$37700	19-	J9S3611	0001	0010	2013000	CLEARING AND GRUBBING	2.00	0.00	2.00	ACRE	2.00	\$4,750.00	\$9,500.00
0001   0002   2000000   EMBANAGENY IN PLACE   1,207 00 000   1,207 00   1,201 00   \$2,000   \$2,077 00				0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$25,000.00	\$12,500.00
1003   1006   2000000   2000000   2000000   200000   200000   200000   200000   200000   200000   200000   2000000   200000000				0030	2031000	CLASS A EXCAVATION	5,429.00	0.00	5,429.00	CUYD	772.00	\$10.00	\$7,720.00
Month   Month   March   Marc			0001	0040	2035500	EMBANKMENT IN PLACE	1,297.00	0.00	1,297.00	CUYD	1,231.00	\$25.00	\$30,775.00
0001   0007   0010005   0050007   0010005   0050007   0010005   0050007   0010005   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   005000   005000   005000   005000   0050000   005000   005000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   0050000   00500000   005000000   00500000   00500000000			0001	0050	2036000	COMPACTING EMBANKMENT	1,816.00	0.00	1,816.00	CUYD	617.00	\$4.00	\$2,468.00
			0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	3,778.00	356.00	4,134.00	SQYD	2,735.00	\$9.00	\$24,615.00
D001			0001	0070	4019905	MISC.OPTIONAL PAVEMENT (6" BP VS. 6" JCPC)	2,378.60	0.00	2,378.60	SQYD	2,378.60	\$42.00	\$99,901.20
0001   0100   0000004   PLACING TYPE & ROCK DITCH LINER   1100   000   11100   CUV0   0.00   340.00   360.00			0001	0800	4019905	MISC.OPTIONAL PAVEMENT (7" BP VS. 7" JCPC)	1,399.10	0.00	1,399.10	SQYD	0.00	\$50.00	\$0.00
D001			0001	0090	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$40.00	\$0.00
March   Marc			0001	0100	6096043	PLACING TYPE 3 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$40.00	\$0.00
Material			0001	0110	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$3,750.00	\$0.00
0001   0140   6161025   CHANNELIZER (TRIM-LINE)   11.00   0.00   11.00   EA   11.00   \$21.50   \$22.65			0001	0120	6161005	CONSTRUCTION SIGNS	314.00	0.00	314.00	SQFT	314.00	\$8.00	\$2,512.0
0001			0001	0130	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$105.00	\$210.0
0.001   0100   01100   0110000   0110000   0110000   0110000   0110000   0110000   01100000   01100000000			0001	0140	6161025	CHANNELIZER (TRIM-LINE)	11.00	0.00	11.00	EA	11.00	\$21.50	\$236.5
0001   0160   6161047   TYPE 3 OBJECT MARKER   4.00   0.00   4.00   EA   4.00   \$110.00   \$8440.0   \$0001   1010   6161098A   CHANCEABLE MESSAGE SIGN WITHOUT COMMUNICATION   2.00   0.00   2.00   EA   2.00   \$4,200.00   \$8,400.0   \$8,400.0   \$11500   \$113000   TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED   314.00   0.00   314.00   LF   0.00   \$50.00   \$0.00   \$0.00   \$1.00			0001	0150	6161030	TYPE 3 MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$99.00	\$594.0
			0001	0160	6161047	TYPE 3 OBJECT MARKER	4.00	0.00	4.00	EA	4.00	\$110.00	\$440.00
0001   0190   01900			0001	0170	6161098A		2.00	0.00	2.00	EA	2.00	\$4,200.00	\$8,400.00
			0001	0180	6173600D		314.00	0.00	314.00	LF	0.00	\$50.00	\$0.0
PAINT, TYPE P BEADS			0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$76,500.00	\$76,500.0
MARKING PAINT, TYPE P BEADS   1,100   1,000			0001	0200	6206000C		1,840.00	0.00	1,840.00	LF	0.00	\$1.50	\$0.0
0001			0001	0210	6206001C		1,940.00	0.00	1,940.00	LF	0.00	\$1.50	\$0.0
0001			0001	0220	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	5,749.00	0.00	5,749.00	LF	5,749.00	\$2.50	\$14,372.5
0001   0250   7250460   60 IN PIPE GROUP C   225.00   575.00   800.00   LF   800.00   \$32,000.00			0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$7,000.00	\$3,500.0
0001   0260   7320018A   13 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END   1.00   0.00   1.00   EA   1.00   \$500.00   \$500.00   0.00   0.00   1.20   ACRE   0.00   \$4,150.00   \$0.00   0.00			0001	0240	7250318A	18 IN. PIPE GROUP B	10.00	0.00	10.00	LF	10.00	\$60.00	\$600.0
SECTION   SECT			0001	0250	7250460	60 IN. PIPE GROUP C	225.00	575.00	800.00	LF	800.00	\$115.00	\$92,000.0
0011   0280   8051000A   SEEDING - COOL SEASON GRASSES   1.20   0.00   1.20   ACRE   0.00   \$4,150.00   \$0.00				0260	7320018A		1.00	0.00	1.00	EA	1.00	\$500.00	\$500.0
0001   0290   8061005   ROCK DITCH CHECK   180.00   0.00   180.00   LF   180.00   \$16.00   \$2,880.0			0001	0270	8025006	MULCHING	1.20	0.00	1.20	ACRE	0.00	\$4,150.00	\$0.0
0001   0300   8061006   ALTERNATE DITCH CHECK   116.00   0.00   116.00   LF   50.00   \$13.00   \$850.00				0280	8051000A	SEEDING - COOL SEASON GRASSES	1.20	0.00	1.20	ACRE	0.00	\$4,150.00	\$0.0
0001   0310   8061016   SEDIMENT REMOVAL   60.00   0.00   60.00   CUYD   0.00   \$20.00   \$0.00				0290	8061005	ROCK DITCH CHECK	180.00	0.00	180.00	LF	180.00	\$16.00	\$2,880.0
0001   0320   8061017   TEMPORARY SEEDING   0.30   0.00   0.30   ACRE   0.00   \$8,500.00   \$			0001	0300	8061006	ALTERNATE DITCH CHECK	116.00	0.00	116.00	LF	50.00	\$13.00	\$650.0
0001   0330   8061019   SILT FENCE   1,424.00   0.00   1,424.00   LF   0.00   \$4.00   \$0.00   0.00			0001	0310	8061016	SEDIMENT REMOVAL	60.00	0.00	60.00	CUYD	0.00	\$20.00	\$0.0
0001   0340   8064129   TYPE 2 TURF REINFORCEMENT MAT   73.00   0.00   73.00   SQYD   0.00   \$48.00   \$0.00			0001	0320	8061017	TEMPORARY SEEDING	0.30	0.00	0.30	ACRE	0.00	\$8,500.00	\$0.0
0001   0350   8064140   TYPE 3B EROSION CONTROL BLANKET   144.00   0.00   144.00   SQYD   0.00   \$5.00   \$0.00			0001	0330	8061019	SILT FENCE	1,424.00	0.00	1,424.00	LF	0.00	\$4.00	\$0.0
0001   0360   8069905   MISC.TYPE 4 TURF REINFORCEMENT MAT   13.00   0.00   13.00   SQYD   0.00   \$18.00   \$0.00			0001	0340	8064129	TYPE 2 TURF REINFORCEMENT MAT	73.00	0.00	73.00	SQYD	0.00	\$18.00	\$0.0
0070   0370   2063300   CLASS 4 EXCAVATION   1,307.00   -324.00   983.00   CUYD   983.00   \$15.00   \$14,745.00   \$12,000			0001	0350	8064140	TYPE 3B EROSION CONTROL BLANKET	144.00	0.00	144.00	SQYD	0.00	\$5.00	\$0.0
0070   0380   2069901   MISC.DEWATERING   1.00   0.00   1.00   LS   1.00   \$12,000.00   \$12,000.00			0001	0360	8069905	MISC.TYPE 4 TURF REINFORCEMENT MAT	13.00	0.00	13.00	SQYD	0.00	\$18.00	\$0.0
0070   0390   2160500   REMOVAL OF BRIDGES   1.00   0.00   1.00   LS   1.00   \$12,000.00   \$12			0070	0370	2063300	CLASS 4 EXCAVATION	1,307.00	-324.00	983.00	CUYD	983.00	\$15.00	\$14,745.0
0070   0400   7034040   CLASS B-1 CONCRETE (CULVERTS-BRIDGE)   451.00   0.00   451.00   CUYD   451.00   \$550.00   \$248,050.00			0070	0380	2069901	MISC.DEWATERING	1.00	0.00	1.00	LS	1.00	\$12,000.00	\$12,000.0
0070   0410   7061020   REINFORCING STEEL (CULVERTS-BRIDGE)   64,060.00   0.00   64,060.00   LB   64,060.00   \$1.50   \$96,090.0			0070	0390	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$12,000.00	\$12,000.0
0001   5001   2149907   MISC.For Furnishing and Placement of Clean Rock Fill as a   0.00   1,136.00   1,136.00   CUYD   1,136.00   \$70.00   \$79,520.00			0070	0400	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	451.00	0.00	451.00	CUYD	451.00	\$550.00	\$248,050.0
Ord			0070	0410	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	64,060.00	0.00	64,060.00	LB	64,060.00	\$1.50	\$96,090.0
Project J9S3611 - Total Value Posted to Date as of Report Generated Date \$897,019.2			0001	5001		MISC.For Furnishing and Placement of Clean Rock Fill as a				CUYD	1,136.00		\$79,520.0
			0070	5002	2063400	CLASS 4 EXCAVATION IN ROCK	0.00	324.00	324.00	CUYD	324.00	\$135.00	\$43,740.0
		Project J	9S361 <u>1 - To</u>	tal Value	Posted to D	Date as of Report Generated Date							\$897,019.20
	9-H	06 Overal	I - Total Val	ue Poste	d to Date as	of Report Generated Date							\$897,019.20

Revision 5/29/2025 Page 4 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3611

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0190	6181000	MOBILIZATION	9/15/25	9/16/25	1	0.25	LS	Rte. M	Sta. 218+30		Sta. 226+30		
0240	7250318A	18 IN. PIPE CULVERT GROUP B	9/15/25	9/16/25	1	10.00	LF	Rte. M	Sta. 218+19				
0260	7320018A	18 IN. GROUP B FLARED END SEC	9/15/25	9/16/25	1	1.00	EA	Rte. M	Sta. 218+19				
0400	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	9/9/25	9/9/25	1	123.00	CUYD	Rte. M Bridge #A9282	Sta. 221+45				
0410	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	9/9/25	9/9/25	1	10,678.00	LB	Rte. M Bridge #A9282	Sta. 221+45				

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 5 of 9



## Line Item Adjustments by Estimate

Contract ID: 240119-H06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3611	0030	CLASS A EXCAVATION	Price FUEL		1	Jun 16, 2025	SYSTEM	(\$55.89)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$55.89)	
			Price FUEL - 1	otal				(\$55.89)	
	0030 -							(\$55.89)	
	0040	EMBANKMENT IN PLACE	Material		1	Jun 16, 2025	SYSTEM	(\$30,775.00)	
					2	Jun 30, 2025	SYSTEM	(\$30,775.00)	
					3	Jul 16, 2025	SYSTEM	(\$30,775.00)	
					5	Aug 4, 2025	SYSTEM	(\$30,775.00)	
					6	Aug 18, 2025 Sep 2,	SYSTEM	(\$30,775.00)	
					7	2025 Sep 16,	SYSTEM	(\$30,775.00)	
					,	2025	OTOTEM		
			Material - Tota	- Total				(\$215,425.00)	
			Material Credit		2	Jun 30, 2025	SYSTEM	(\$215,425.00) \$30,775.00	
					3	Jul 16, 2025	SYSTEM	\$30,775.00	
					4	Aug 4, 2025	SYSTEM	\$30,775.00	
					5	Aug 18, 2025	SYSTEM	\$30,775.00	
					6	Sep 2, 2025	SYSTEM	\$30,775.00	
					7	Sep 16, 2025	SYSTEM	\$30,775.00	
				- Total				\$184,650.00	
			MaterialCredit	- Total				\$184,650.00	
			Price FUEL		1	Jun 16, 2025	SYSTEM	(\$155.97)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$155.97)	
	0040	Total	Price FUEL - 1	otal				(\$155.97)	
	0040 - 0050	COMPACTING EMBANKMENT	Material		1	Jun 16, 2025	SYSTEM	(\$30,930.97) (\$2,468.00)	
					2	Jun 30, 2025	SYSTEM	(\$2,468.00)	
					3	Jul 16, 2025	SYSTEM	(\$2,468.00)	
					4	Aug 4, 2025	SYSTEM	(\$2,468.00)	
					5	Aug 18, 2025	SYSTEM	(\$2,468.00)	
					6	Sep 2, 2025	SYSTEM	(\$2,468.00)	
					7	Sep 16, 2025	SYSTEM	(\$2,468.00)	
				- Total				(\$17,276.00)	
			Material - Tota	ı				(\$17,276.00)	
			MaterialCredit		2	Jun 30, 2025	SYSTEM	\$2,468.00	
					3	Jul 16, 2025	SYSTEM	\$2,468.00	
					4	Aug 4,	SYSTEM	\$2,468.00	



## Line Item Adjustments by Estimate

Contract ID: 240119-H06

ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
11	0050	COMPACTING EMBANKMENT	MaterialCredit			2025			
		EMBANKMENT			5	Aug 18, 2025	SYSTEM	\$2,468.00	
					6	Sep 2, 2025	SYSTEM	\$2,468.00	
					7	Sep 16, 2025	SYSTEM	\$2,468.00	
				- Total				\$14,808.00	
			MaterialCredit	- Total				\$14,808.00	
	0050 -							(\$2,468.00)	
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN.	Material		1	Jun 16, 2025	SYSTEM	(\$21,411.00)	
		THICK)			2	Jun 30, 2025	SYSTEM	(\$21,411.00)	
					3	Jul 16, 2025	SYSTEM	(\$21,411.00)	
					4	Aug 4, 2025	SYSTEM	(\$24,615.00)	
				- Total				(\$88,848.00)	
			Material - Tota					(\$88,848.00)	
		MaterialCredit		2	Jun 30, 2025	SYSTEM	\$21,411.00		
				3	Jul 16, 2025	SYSTEM	\$21,411.00		
				4	Aug 4, 2025	SYSTEM	\$21,411.00		
					5	Aug 18, 2025	SYSTEM	\$24,615.00	
				- Total				\$88,848.00	
			MaterialCredit	- Total				\$88,848.00	
			Price FUEL		1	Jun 16, 2025	SYSTEM	(\$129.18)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Aug 4, 2025	SYSTEM	(\$0.91)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$130.09)	
			Price FUEL - T	otal				(\$130.09)	
	<b>0060 -</b>		Other Item	ACAD	3	Jul 16,	ROTHEL	(\$130.09) (\$2,312.95)	
			Adjustment	ACAD - Tota	al.	2025		(\$2,312.95)	BP1) installed during this Estimate Period.
				FUEL	3	Jul 16, 2025	ROTHEL		This AC Adjustment is being made for 2378.6 Sq Yds of Asphalt (4"of BB, 2" BP1) installed during this Estimate Period.
				FUEL - Tota	ı	2020		(\$44.30)	District   District
			Other Item Ad					(\$2,357.25)	
	0070 -	Total						(\$2,357.25)	
	0130	ADVANCED WARNING RAIL	Material		1	Jun 16, 2025	SYSTEM	(\$210.00)	
		SYSTEM		- Total				(\$210.00)	
			Material - Tota					(\$210.00)	
		MaterialCredit		2	Jun 30, 2025	SYSTEM	\$210.00		
				- Total				\$210.00	
			MaterialCredit	- Total				\$210.00	
	0130 -							\$0.00	
	0160	TYPE 3 OBJECT MARKER	Material		4	Aug 4, 2025	SYSTEM	(\$440.00)	
				- Total				(\$440.00)	
			Material - Tota					(\$440.00)	

Sep 19, 2025



## Line Item Adjustments by Estimate

Contract ID: 240119-H06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3611	0160	TYPE 3 OBJECT MARKER	MaterialCredit	71	5	Aug 18, 2025	SYSTEM	\$440.00	
				- Total				\$440.00	
			MaterialCredit	- Total				\$440.00	
	0160 -	Total						\$0.00	
	0170	CHANGEABLE MESSAGE SIGN WITHOUT	Material		1	Jun 16, 2025	SYSTEM	(\$8,400.00)	
		COMMUNICATION		- Total				(\$8,400.00)	
		INTERFACE, CONTRACTOR	Material - Tota					(\$8,400.00)	
		FURNISHED / RETAINED	MaterialCredit		2	Jun 30, 2025	SYSTEM	\$8,400.00	
				- Total				\$8,400.00	
			MaterialCredit	- Total				\$8,400.00	
	0170 -	Total						\$0.00	
	0400	CLASS B-1 CONCRETE (CULVERTS-	Material		5	Aug 18, 2025	SYSTEM	(\$142,450.00)	
		BRIDGE)			6	Sep 2, 2025	SYSTEM	(\$180,400.00)	
				- Total				(\$322,850.00)	
			Material - Tota					(\$322,850.00)	
			MaterialCredit		6	Sep 2, 2025	SYSTEM	\$142,450.00	
					7	Sep 16, 2025	SYSTEM	\$180,400.00	
				- Total				\$322,850.00	
			MaterialCredit	- Total				\$322,850.00	
	0400 -	Total						\$0.00	
	5001	MISC.	Material		1	Jun 16, 2025	SYSTEM	(\$39,760.00)	
					1	Jun 16, 2025	SYSTEM	\$39,760.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user hillsd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	5001 -	Total						\$0.00	
J9S3611 -	Total							(\$35,942.20)	
Overall - 1	Total							(\$35,942.20)	

# MoDOT

## **Contract Adjustments for Contract - 240119-H06**

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 9 of 9